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QolB

No. of Questions/9¥1 @i H&ar ; 180

Time /HHF : 2 Hours/H02 Full Marks /QUTe ; 450

Note,.r‘:ﬁ':{ :

26)

(1)

E
This paper consists of Objective Tyvpe Questions and is divided into
TWO Sections (I and II} as under :
TE - SElaFedd Wi W oaaiiE 2 qer 3 wusi (1 oF 1) 5 faven

g, W4 & e affa @

a) Section—I consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject
Awareness in some major subjects.

() @vs—I 4 120 sefmedR yw oW J7, TARE 9 S
0 FT 9 favdi & 7 W smenfa &

(b) Section—II consists of 30 Objective Type Questions on (i) English
Language and (ii) Hindi Language.

(@) @vg—II 4 30 FplFd y= (i) st oW o (i) R o
T T o #)

A candidate is required to attempt as many questions as he/she can of
Section—I, and questions of ANY ONE of the TWO Language papers
(1) English or (ii) Hindi in Section—II.

wvelf ¥ e B TR Wues—1 ¥ afvEfus we qu mvs—n ¥ ()
AU A (i) &= 9w I A | el o v % w1 we #)

Each question carries 3 marks. One mark will be deducted for each

incorrect answer, Zero mark will be awarded for each unattempted
question.

JAF YH 3 HF W 2| TEF TAd IW h AU Uk HF FIT AT |
Yo ST Y 1 TR YA e |

[f more than one alternative answers scem to be approximate to the
correct answer, choose the closest one.

Az uFlE IFCTF I G IWM F P wda @, A Sean @d a
2l

1 (P.T.O.)
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1.

(26)

w-“'l""‘r

e

(3) Each question is followed by Four alternative answers (1), (2), {3) and
(4). Only one of these answers 18 correct. Select the correct answer ant

record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

v T % uR dEerE I gAN W R SR (1), (2), (3) 9 (4) Hbd
i oewtar w2 TH G daw U @ TN HA 21 HE IWoF waa Aifaw
A IOF THA F IO-UF W gl we F wwH Friweem atmoae
(TeTs) F AT @ige U G Il Hh G |

Section—I

w|ug—I
In the contemporary definition of Psychology, which one of the following is not &
focus of study?
(1) Mental Processes (3) Expericnce
(3) Soul (4) Behaviour
wifage & asifoe aRrn # Fefea 3 @ SE-w s w w16 2
(1) wetas wfFpad  (2) v (3) 3fedl (4) EER
WhiCI'I'l school of Psychology focuses on. the ‘organization of perceptua.
experiences’?
(1) Behaviouristic (2) Gestalt
(3} Structural (4) Functional
THIfaTH ® PH- IR EfEE S % HUs W dfem 2
(1) cuaERdTe] (2) TreeTee (3) HTEAETE (4) AT
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If a psychological experiment is being conducted in a sound-proof room, then
the effect of 1S being controlled using the method of

(1) noise, elimination (2} noise, counterbalancing

(3) noise, randomization (4) light, elimination

7tz Fré mArmhE Wi v afh-aa w3 ool e ow W@ R @ — )
——— fafu % gm FEfm s @

(1) Hiomed, e (2) iemed, JfEger
{3} HISATEA, AgeBIHT (4) shm, Fega

Which one of the following refers to the ‘stability of the test scores overtime'?

11) Split-half reliability (2) Internal consistency

(3) Test-retest reliability (4) Objectivity
fFrfefaa # @ #9 wewr st B e ol § e #1 $Fm w 20
(1) rdfeeae fovaasm (2) W |

(3) wliegor-q-wteror fererfraa (4) FeghEa

Which gland within the endocrinal system of the body is referred to as the
‘Master Gland’?

(1) Adrenal (2) Pancreas (3) Pinea_l (4} Pituitary
el of woreh B oy B sl o ww w8
(1) ufgaa (2) A (3) e (4) Teget

3 (P.T.O.)
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6. Which one of the following struclures, within the ear, is responsible fu:
sensation of postural changes of the body?

(1) Cochlea (2) Eustachian tube
(3) Semi-circular canals (4) Tympanic membrane

Breifpa § & %9 % A7L &l wlA-" W GHEE EHT F GEdA FH g9

o fomiem €7
(1) ot (2) Ao
(3) 3 -gevwR FferH (4) FE F

7. Who proposed the idea that rats were capable of *latent learning’ and using © 1.
develop a ‘cognitive map’ of a path?

(1} Kohler (2} Pavlov (3} Skinner {4) Tolman
7z frm wefm e e f6 R oy SRR GUT Imen JwEm # TR o
F AFEATHS AERE S99 0 gy 7 27
(1) HiEen (2) dfdeE (3) ferm (4) 2ie
8. Who proposed the concept of “working memory’ implying that short-term

memory has multiple components that are constantly manipulated and
transformed?

(1) Ebbinghaus (2} Baddeley (3} Tulving (4) Bartlett

gt wia’ @ dvegs, R 9% 3@ o#d v, wwEld oo B e
oifa % H% Uk wid & e =R vEfad va surdabd g o2

(1) ufsmetg (2) st (3) g (4] T

(26) 4
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Which is the correct order of the stages of language development among
children? "

(1} Crying, Babbling, Cooing (2] Crving, Cooing, Bahbling
[3) Cooing, Crying, Babbling (4) Babbling, Crying, Cooing
Fml & T T R el & a8 B w87

(1) T, Seaan, fEafeern (2) T, Frefremn, SeEem
(3 Fretfremn, T, S9=aT (4) SerEer, T, frefram

Who proposed the ‘theory of primary mental abilities’ of intelligence?

(1) Binet (2) Spearman (3) Thurstone (4) Guilford
gz # ‘mafiE wEks ardet F e W wfooe e R oa?
(1y (2) feraa (3) A @) Frewrd

Which one of the following is not the characteristic feature of ‘gifted’ children?
(1} Conformist thinking

(2) Logical thinking

(3) High speed information processing

(4) Intrinsic motivation

frafafas # 8 se-g1 Ry a= w1 Gl qaw @ o2

(1) FFaETH G (2) =i fa=m

(3) g wfa g T (4) afeER arfir

5 (P.T.O.)
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12. Which one of the following is not included within the positive symptoms of
Schizophrenia?

(1) Blunted affect (2} Delusions
(3) Hallucinations (4) Heightened perception
frafafea 8 8 FH-91 TifEead $§ oers agon § witafem @ 2
(1) vt # FT (2) =i
(3) fem (4) afemfma s=RfEm
13. Who was the proponent of ‘Rational Emotive Therapy’?
(1) Joseph Wolpe (2) Carl Jung
(3) Aaron Beck (4} Albert Ellis
‘T WTETes ST’ T SOIAT i w17
(1) % Jed (2) ww I @) AW FF  (4) W ufew

14. What is meant by ‘social facilitation’?

(1) Decline in performance in presence ol others
(2) Improvement in performance in presence of others

(3) Assigning causes to behaviours displayed in specific social setting

(4) Responding to the need of others who are in distress
rfoe g 1 F o R7

(1) =1 =afwal $ sufeafa § fomer & a7 @

(2) ¥ =afwal $it suftufy & e & gf @

(3) wmmfsrs ohfeufesi o afreas =yaerl % Fww Frefm ww

(@) 9 v B § @ R T ¥ WR sEReahe

26) 6



15.

16.

17.

(26)

18U/ 104/15 Set No. 1

In @ ———, the members often have complementary skills, committed to a
common goal, mutually accountable for their activities and their coordinated
cfforts leads to attainment of positive SYNErgy.

{1} team (2) group (3) audience (4) crowd

UF ——— H WG wgul S hiNe O, @AF R % sfd sfoag, s
mﬁﬁWﬁ%i%ﬁlﬁég}%iﬁ?ﬁmﬂiﬁﬁﬁ U ITF ORI T
wetFEm % ufa amfas 2@ 8

) = (2) W (3) HAtaET 4) s

A “hard currency’ 1s one
(1) which is made by hard metal
{2] in which there are more currency notes than coins

(3) which is a legal tender

(4] the demand for which is persistently higher than its supply
T e g 98 o

(1) s & ug o @ a2

(2) Foradl gz A wen fawl @ sy A R

(3) St FrA T gt 2

(4) frmeht winm frea 39t qfd | sfes et R

In the short-run, a firm would remain in business if one of the following costs is
covered

(1) constant cost (2) fixed cost

(3) total cost (4) variable cost

7 (P.T.O.)
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FoHE §, U s § o af fe 9 9 s ad g A SR

(1) fer s (2) =Rt R (3) = T (4) uitEdefid E0T

18. Under perfect competition, the demand curve of a firm slopes

(1) downward to the right (2) upward to the right
(3} upward to the lelt (4) horizontally parallel
gl afeifien % srarta, w4 % W1 9% w1 @ o 2

(1) Ffedt ST g gam (2) wfedt st 3a1 g
(3) =R T I3 B (4) sifosr 181 F guEEw

19. Fiscal Deficit is identified as
(1) budgetary deficit + Government market borrowings and other liabilitics
(2] Total outlay - Income received
(3) Budgetary deficit — Public borrowings
(4) Budgetary deficit — Interest payment
TSN w1 FEfifed § § qees w2
(1) =S =911 + |GRN SR 397 a9 319 2Fan
(2) F& Uf=IE — W 39
(3) T = — FEGHF IUW
(4) TSR "R — S e

(26) 8
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20. Phillips Curve establishes relationship between

(1} wage rate and unemployment rate
12] price of durables and their demand
(3) demand for and supply of petroleum products

(4] None of the above

fuferer o foFas 797 gw=rg wfig @ 27

(1) wogll g1 @ SUe &
(2) T3 i A figg @ I gin

@) TR FEs A i s g

(4) IFE H q FE A

21. Which one of the following is not an instrument of Fiscal Policy?
(1} Public Revenue (2) Public Expenditure
(31 Public Borrowings [4) Cash-Reserve Ratio
fefataa # 8 - oo fifd &1 om0 98 27
(1) AT 31 (2) TESH =g
(3] WS (4) FrEt-frord s

22. Which one of the following is true about Net National Product (NNP) at Factor
Cost?

(1) It is equal to NNP at Market Price - Indirect Tax + Subsidy
(2) It is equal to GNP at Market Price — Depreciation
(3) It is equal to GNP at Factor Cost - Depreciation
(4) Both (1) and (3)
26 9 (P.T.O.)
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(26)

ﬁﬁ?ﬁiﬁaﬁﬂﬂq-maﬁmmmmsﬁ@am?ﬁaﬁwﬁm%?

{1]a‘gaﬁnmq{uﬁumu‘ﬁo—mﬂﬁ+ﬁﬁmﬁ%?ﬁ$ﬁﬂ%
[zluﬁweﬁnﬁmsﬁomnﬁo—wéﬁﬁ?ﬁtﬁm%
[3yaﬁwammaﬁa@otﬁo—maawﬁm%

(4) (1) @ (3) A

Efficiency allocation of resources is likely to be achieved under

(1) monopoly (2) duopoly

(3) perfect competition (4) monopolistic competition
FanEl ¥ 29 oEed o @AET 8

(1) TR | (2) FEMFR o

(3) qof feratfn & (4) TRt e 6

Which one of the following pairs is not correctly matched?

(1) Inflationary Gap—J. M. Kcynes
(2) Cash Balance Approach—A. C. Pigou
(3) Accelerator-Multiplier—J. R. Hicks

(4) Maximum Social Advantage—A. Marshall
frefafgs § & #w-m e gifea 78 €7

(1) Thifd =UE—o Wo HIHA

(2) T W9 gfEp—To Hio

(3) TEH-TIHF—Sto e feo

(4) AfFwa wmfs @ 1 fagra—to mte

10
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National Income estimate in India is prepared by

(1} NSSO (2) ISI

(3} CSO (4) Ministry of Home Affairs
mﬂn@amww@a%&%mﬁﬁmw%?

(1) THoUHUHo o (2) HTEoUHoTEo

(3} Hougoairo (4) TE HeATerY

Marginal utility is equal to
(1} total utility minus average utility
(2) addition to total utility caused by consumption of an extra unit

(3) total utility divided by the number of units consumed

(4) total utility plus average utility

diu Iugifivar soet w2

(1) F IwAifiar v sfga Iegifira

(2) wh fafes S8 % IwEAm | Fo vt § 9fy
(3) Fo IwAIfET d Iwdm fi 7 T B Hewm A oam
(4) Fo T S sftEa IwE

Which one of the following is not a U-shaped curve?

(1) The AVC curve (2) The AFC curve

{3) The AC curve (4) The MC curve

s & 8 S9-w1 T% U—mmqﬁﬁm?

(1} AVC F&F (2) AFC T (3) AC a& (4) MC o
1 )

(P.T.O.)
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28. Fiscal deficit less interest payment is called

(1) net fiscal deficit (2) monetised deficit

(3) primary deficit (4) budgetary deficit
Fyer o1 et s ) orgenf Wi 9 @, # FEd €
(1) g e T (2) T WA (3) S (4) TR A

29. Which one of the following is not a method of calculating national mmcome?
(1) Income Method (2) Expenditure Method
(3) Value-added Method (4) Financial Method
frefafiag § @ s=-T1 79 o w i fafy S 20
(1) e fafa (2) = fafa @) gea-gig fafn () facfa fafy

30. The indifference curve for perfect substitutes 18
(1) straight line (2) L-shaped
(3) convex to the origin (4} concave to the origin
qofa: TENE S U deswd aF g e
(1) gl T (2) L-3TR i
(3) qa fag & 3 I (4) gt forg 1 37 raEe
31. The two most important centres of the Harappan Cwilization were

(1) Rakhigarhi and Mohenjodaro (2) Banawali and Mohenjodaro

(3) Chanhudaro and Harappa (4) Kunal and Harappa

(26) 12
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TSI O A T AW ey F Fy o7

(1) TEd g digsiEe) (2) sATEEt qo WrEsies:
(3) STErEel dUr gEW (4) FUT 991 gBOw

32. Who was the first Tirthankara of Jainism?

(1) Mahavira (2) Parshvanatha (3) Risabhdeva (4) Indradeva
Aaad & yum dider @ g0
(1) werER (2) Ty (3) s 4) w2
33. Megasthenes came from which country?
(1) Persia (2) Afghanistan  (3) Greece (4) Mesopotamia
RIS IR R E T R+ Il o B
(1) fdfa (2) FPMREE (3) AW (4) werGzfE
34. The Ajanta Caves are located in which Province of India?
(1) Gujarat (2) Rajasthan
{3) Maharashtra (4) Madhya Pradesh
AT TH WRG & 6 W § smEfid 27
(1) Tsrad (2) s (3] HERTZ (4) TSI

35. Who among the famous Rulers was known as the Indian Napoleon?
(1) Chandragupta Vikramaditya (2) Samudragupta

(3) Chandragupta Maurya (4) Skandagupta

26) 13 (P.T.O.)
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Wﬁﬁﬁ%wm%ﬁﬁm%mﬁaﬁﬁ%?
(1) s Fmfe (2) HHGH
(3) FFIH W (4) TEIH

36. Who was the author of Rajatarangini?

(1} Bilhana (2) Kalhana (3) Kalyanraman (4] Jayadev
aeaht % o@h Hi 47
(1) foegm (2) g (3) FEATTRHA (4) Fa5d

37. Who among the following is associated with the construction of the Mosque
Arhai Din Ka Jhompra?

(1) Qutubuddin Aibak (2) Balban

(3} Raziya Begum (4) Ruknuddin

frr & & B orgrd R giiwe W Afeg F P § w27
(1) FYFW @F (2) T @) Fomm am(4) FHER

38. During the Delhi Sultanate Period, the World Ulama meant
(1) Archaeologist (2) Historian
(3) Religious Scholar (4} Writer
fedt oea w1 § IeW & R oY A77

(1) g (2) sfRFR () wifs figm  (4) Saw

(26) 14
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39. Who was the author of Prithvi Raj Raso ?
(1} Chandbardai (2) Amir Khusrau
(3] Baba Gorakhnath (4) Guru Nanak

FeAtTS T AIE TEAF % ohEgsd FH 97
(1) =eaars (2) 3nfR gEd (3) WM& TroEETy (4) % T

40. Who wrote the book Discovery of India ?
11} Maotilal Nehru (2} M. M. Malaviya
(3) Mahatma Gandhi (4) Jawaharlal Nehru
R T @I (Discovery of India) W% T e foran a1?
(1) A d8% (2) o Wo T
(3) wereAn e (4) R AEE

41. Who established Banaras Hindu University?

(1) Annie Beasant (2) Rameshwar Singh
(3) Kashi Raja (4) Madan Mohan Malaviya
T fog Rvafarem fead wfe frn?
(1) Tt I8 (2) v fam
(3) wEf TS (4) WA Higd Arerdig
42. The famous book The Indian Struggle was written by which Freedom Fighter?
(1} E. M. 8. Namboodiripad (2) J. C. Bose
(3) Motilal Nehru (4) Subhash Chandra Bose

(26) 15 (P.T.0.)
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Sfrg T 2 30E9T T (The Indian Struggle) fR wadaal H4HI F gl eE

T ?
(1) 3o THo THo FHfeilTg (2) o o =T
(3) AT TEE (4) g9 T S

43. Vivekananda was associated with which organisation?
(1) Arya Sama] (2) Ramakrishna Mission
(3) Prarthana Samaj (4) Theosophical Sociely
== fFm gwn 9 gwg 97
(1) 3 T (2 T e
(3) ST HHTS (4) fuaratfeees oo

44. Which reformer wrote the book Satyartha Prakash?
(1} Raja Ram Mohan Roy | (2) Keshab Chandra Sen

(3) Swami Dayananda Saraswati  (4) Swami Vivekananda
o gurs 3 ger e A qEE foaan?

(1) T TR T (2) F¥E Tg T

(3) W= A HEE] (4) @ fEawn=

45. Who was the President of the Constituent Assembly?
{1) Jayaprakash Narayan (2) 8. N. Sinha

(3] B. R. Ambedkar (4) Dr. Rajendra Prasad

(26) 16
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AU T F vy 7 9
(1] SAYFE TR (2) THo WHo firgy
(3) o Mo arEIEH (4) Elo TS WER

Who propounded ‘Harm Principles’?

(1) J. S. Mill (2) I. Kant
(3} J. Locke (4) Friedrich Nietzsche
Fefefea 3 @ fe ‘aift =1 fagm hrf fear?

(1) So wo i@ (2) amo w2 (3) o ®iF (4) HefE et

Duration of ‘emergency’ period in India proclaimed in 1975 was approximately

(1} 9 months (2) 19 months (3} 23 months (4) 29 months
WRA W W 1975 ¥ Oif¥G ‘smume’ # gwa @ o
(1) 9 wH (2) 19 weR (3) 23 WM (4) 29 =R

Consider the following :
(a) Public Account Committee
(b} Comptroller and Auditor-General of India

Which of these are the Committees of Parliament?
(1) Only (a) (2) Only (b)

(3] Both (a) and (b} (4) Neither (a) nor (b)

17 (P.T.0)
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50.

(26)

ﬁ'ﬁ%ﬁﬁﬁq{ﬂ'ﬂ?ﬂﬁq:

(a) < e @t
(b) WRA % WEIeEl FEE
Sy B @ TEd At w27
(1) % () (2) F= (b)
(3) () 3 (b) QA (@) 7@ (a) 3T (b

Which one of the following is a new concept in the parliamentary system of India
generally not found in other countries?

(1) Speech by the President (2) Question Hour

(3) Parhamentary Committees (4} Zero Hour

o B gedm woreh # Beffes § ¥ FR-m o W} W s o A
HrTIAET: TE uwEr S 27

(1) TEHfd 1 AT (2) S A
(3) "Edg wiEfdal (4) I HA

Who of the following gives a certificate to the Money Bill?

(1) Finance Minister (2) Prime Minister
(3) Speaker of Lok Sabha (4) Auditor and Comptroller General
frafafias @ & %9 e fbes w1 ywor-o 2d 27
(1) fom A (2) ST
(3) TAREAT ITeAY (4) fEs® @ wEeE Tla®
18
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Power to include or exclude a caste from the schedule has been given under our
Constitution tg

(1) President (2) State Governor

(3} State Legislature (4) Parliament
mﬁ#ﬁmﬁ%&ﬁaﬁﬁaﬁﬁﬁr@%mmﬁﬂaﬁﬁmﬁaﬁﬁa%
(1) ot (2) TS0 % T

(3) usa foamm (4) &g

Scientific Socialism is associated with which of the following name?
(1) John Locke (2) Robert Oven

(3] Charles Fourier (4) Karl Marx
AHE TeaE 5§ @ e am % my w27

(1) S == (2) W 37E (3) 9d W (4) e wrad

Article 14 of Indian Constitution is associated with which of the following?

(1) Right to Freedom (2) Right to Equality

(3) Right against Exploitation (4) Right to Religion

A FlHH H ST 14 fieffias § @ frd geg 27

(1) S=aaar #1 aAfb=n (2) HAEAT 1 e

(3) wiwor & favg sifmn (4) aifds A #1 fEn

19 (B.T.O.)
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54. The States Reorganisation Act, 1956 divided the entire country Into
(1) 22 States and 9 Union Territories

(2) 14 States and 6 Union Territories
(3) 17 States and 7 Union Territories

(4) four categories of States

e fiarfied A U, 1956 ¥ Trqul g W fawlE i
{1}22@31‘!19%7;%%?9%&11? (2) 14 TS 3N 6 HElEd ¥o¥ A
(3) 17 =T ¥ 7 Fegied ew | (@) T F W FS H

55. Under which Article of the Indian Constitution may the President b
impeached?

(1) Article 356 (2) Article 75 (3) Article 76 (4) Artcle 61

Wﬁw%%&mﬁt%wﬁﬁmmwm'ﬁm%?
() s=RE 356 (2) I TS (3 ITE 76 (4) =T 61

56. The Comptroller and Auditor General of India does not audit the accounts of
(1) State Government (2) Government Companies

(3) Municipal Bodies (4) Union Government
W F TR ud e qhes e w1 s 9@ ditse # @
(1) 799 EEHN (2) HTEA Feafar

(3) wm T (4) g T

(26) 20
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Which one of the following is not a feature of the Indian Constitution?

(1] Sovereignty of Parliament (2) Republic

(3) Secularism (4) Judicial Review
fFefafes & & #5 wnda afum 6 fen 4 20

(1) #9g HI FEo (2) TorE

(3) Gufrdamr (4) =R Fefte

How many members are there in the Public Accounts Committee of Parliament?

wHe ) % o affy § e wee B ¥

(1) 16 (2) 18 (3) 20 (4) 22

Which one of the following statements about the Judiciary is false?

(1) Every law passed by the Parliament needs approval of the Supreme Court.

(2) Judiciary can strike down a law if it goes against the spirit
Constitution.

(3) Judiciary is independent of the Executive.

(4) Any citizen can approach the courts if her rights are violated.
et & fawg # = 4 @ F9-w waw sy 22

(1) &8¢ ¥ wiftd Jed F + =Amfes f wfief § smavwwa o 2
(2) e & foeg 9 O f@f oft s F muie foa w e 2
(3) Ao HEuferm & @aa 2)

(4) A7 sl % A W HE R e e e gEa 2

21
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60.

61.

62.

63.

(26)

A person who is not a Member of Parliament is appointed as Minister. He has to
get elected to one of the Houses of Parliament within

(1) a month
(2) three months
(3) six months

(4) stipulated time as fixed by the President

wh fE S gog # e H@ g, Tt F w0 0 AW g 21 iR fEE off w
i faifga 23 6 sfuewan sEfy @

(1) o HiE (2) 9 wrE

(3) & WE (4) gl g Fwif w

Which one of the following is based on birth?

(1) Varna (2) Class (3) Caste (4) None of these
Frfafas § & #14 o0 W aeia 27

(1) (2) =t (3) (4) ¥4 8 #r§ 7
How many Purusharthas are there?

fepe o #7

(1) 2 (2) 4 (3} 6 (4) 8

In India, how many castes and sub-castes are there?

(1) More than 5000 (2) Four

(3) Two hundred fifty (4) Eighteen

22
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urd 7 e ifgar o su-wifigt 37
(1) 5000 & 3few (2) 9
(3) & M w=H (4) *TmR

Which one tribe among the following belongs to Andaman and Nicobar Islands?

{1) Jaunsari (2) Jarwa (3) Toda (4) Gond
frafefigs § @ 99 o sverm w feen duege 6 SR 27

(1) St (2) ST (3) 2rer (4) e
Which tribe among the following belongs to Uttar Pradesh?

(1) Shompen (2) Garo (3) Khasi (4) Tharu
Freafafan # & #1493 W20 # TF S 27

(1) s (2) ™ (3) @t (@) or&

What do you understand by Nuclear Family?

(1) Husband, his friends and wife
(2) Husband, wife and relatives
(3) Husband, wife and their unmarried children

(4) Husband, wife and their married children

TR TfER § o1 ¥4 GHER 27
(1) o, 3u& fim o oeit
(2) wfw, geft ot fwder
(3) ofy, vt 3R F fdaed a=
(4) ufd, 7ot 3t 39 foafea s=
23 (P.T.O.)
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67.

68,

69.

70.

(26)

Which one of the following is not the problem of Hindu marriage?

(1) Dowry (2) Child marriage

(3) Widow remarriage (4) Endogamy and exogamy
frfefan & # feg foae A wwen T8 27

(1) % (2) == T

(3) fereran grfetars (4) srafdar R afidamw

What is the minimum legal age of marriage for a Hindu boy in India?

(1) 18 years (2) 15 vears (3) 21 years |4 25 vears
yrd # fee Tk % fEw oA FEA g F R7
(1) 18 =4 (2) 15 =4 (3} 21 = (4) 25 =4

In India, what is the minimum legal age for casting vote in General Electi
(1} 15 years (2) 17 years (3) 18 years (4) 21 years
WA H oW gAE & ol g [ R Eew FE ey a2l

(1) 15 39 (2) 17 =9 (3) 18 =d (4) 21 7§

Who coined the word ‘Sociology’?

(1} Karl Marx (2) Max Weber

(3) Auguste Comte (4) Emile Durkheim

frat TR’ g = i

(1) #ret mrerd (2) BFE I (3) I HR (4) dwmw @i

24
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71. Who said, “Sociology is the Science of collective behaviour ” ?

(1) Auguste Comte (2) Burgess
(3) Maclver and Page (4) Herbert Spencer
fhed e o, ““wrmTe T saEEn @ w27
(1) ¥ F= (2) witg
(3) AFEar I 9H (4) B TR

72. A Sociclogist is
(1) a reformer (2) a preacher
(3} a revolutionary (4) an objective inquirer
g gt #
(1) TF Gurh (2) T ITeH
(3) T il (4) TF Iy A

73. Which one of the following is an example of achieved status?
(1} Girl (2) Brahmin (3) Engineer (4) Boy
frafafen 4 @ #8 o afa sfef &1 s 22
(1) TEh (2) s (3) s (4) T

74. What will be the mean of the following data?
freferflga sl 1 A 741 g ?
10, 20, 30, 15, 25

(1) 10 (2} 20 (3) 30 (4) 40
(26) 25 (P.T.O.)



18U/104/15 Set No. 1

75. Which one of the following is not a characteristic of primitive religion?

(1} Taboo (2) Ancestor Worship

|3) Temple (4] Totem

Srfafaa § @ Fr onfen wd Hi fawrea T _7

(1) & (2) TS (3) Af= (4) 2w

76. ‘Carla’ is the name given to a

(1) Galaxy (2) Star (3) Meteoroid (4) Planet
‘Frel W e o g wE
(1) FHEEEN H (2) TR H (3) FeHMUUE H  (4) W@ H

2%  Which star is closest to the Earth after Sun?

(1) Alpha Centauri (2) Sirius

(3) Proxima Centauri (4) Ross

o ¥ =@ #a-w an e F waffus gHm 27

(1) 3w =10 (2) €| (3) wifFem F=H  (4)

78. ‘Hadley cell’ lies in between
(1) zero to thirty degree latitude
(2) zero to forty-five degree latitude
(3) zero to sixty degree latitude

(4} zero to eighty degree latitude

(26) 26
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(1) 7= & dim faft staw & oy
(2) A ¥ Yareim foft semw & aey
(3) ¥ & = foft stgim & 9wy
(4) = § o foft svemw % mew

‘Col” always lies in between

(1) two low and two high pressure belts
(2) two high and one low pressure belts
(3) two low and one high pressure belts

(4) one low and one high pressure belts

(1) 2 fr 3 3@t 3= o ofeg % W
(2} @ 3= 9 UF A T ufedt & ae
(3) 3 = 9w 3= T o & me
(4) % F= 3 v 3= g ofEE & ue

What causes rainfall on the coastal area of Tamil Nadu in the beginning of
Winter?

(1) South-West Monsoon (2] North-Eastern Monsoon

(3) Temperate cyclone (4) Local air circulation

afferrg % @ & 8 wfawe F amw # avi fees s @ 2

(1) Bleror-ufyem AiTea (2) I~qal ATAEA
(3) sfr=r =shard (4) wa arg g
27 (P.T.O.)
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81.

82.

83.

(26)

‘Pani Panchayat’ is a Movement to

{1} desalinization of water (2) store water
(3) conserve water (4) supply water
it YA T e R

(1) o 1 SrEErEl & (2) S WERT ¥
(3) & HE ¥ (4) Sfemgfd 2

Which among the following 1s not a source of municipal solid waste?

(1} Private houses (2) Commercial establishments
(3) Industrial processes (4) Commercial institutions
Frofofia @ @ 9 miffae ot onfe # G @6 A 2

(1) Fsit 7R (2) e afds

(3) sitaifr wiFar (4) wreEfE wEur

Which one of the following is most responsible for greenhouse effect?
(1) Carbon dioxide (2) Dust particles

(3) Spores (4) Hydrocarbons
frrfefgs & ¥ figee W@ % g #i9 watfas Iwer 27
(1) FEA gRATTEEE (2) e w0

(3) ey (4) BTG

28
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fFrafefas = a8 = i .
(A) g i) wae
(B) dfa (i) T
(C) afarge (i) BT TEA
(D} #8373 (iv) STETER

(11 (A-(), (B)-(i), (C)-(i), (D)~iv)  (2) (A)(iv), (B)-(il), (C)~i), (D)~{iii)

(3) (A)=(iv), (B}-{), (C)-(iii), (D))  (4) (A)=Gi), (B)-(iv), (C)-(iii), (D)~(i)

The world famous ‘Corn Belt’ is in which country?

(I] Canada (2] Peru (3) South Africa (4) USA
fava ufrg ‘wrs 9 frm 2w o 22
(1) e (2) 9% (3) e sfiE  (4) FomHoUo

Which world region is the highest producer of natural rubber?

(1) South Asia (2) South-East Asia

(3) Central America (4) South America

fva ®1 ®H-T1 87 VIFEw @ H IHdH IAGH &7

(1) gfeor fem (2) gfeor-gelf wfirn

(3) wed TETER (4) faft smfem

‘Zebu’ is a breed of

{1} Cattles (2) Cereals (3) Vegetables {4) Poultry
31
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84. Amrita Devi Bishnoi Award is given for

(1} National Integration (2) Literary contribution
(3) Social work (4) Wildlife protection
sppn ot foreté qrehR fon s @

(1) T v % fom (2) =fefs amge & foro
(3) wmfers FR % e (4) Ffra g & foo

85. When Indian Parliament passed the Environment (Protection) Act?

ardta w9e 4 % A (Gen) At i e
(1} 1974 (2) 1975 (3) 1984 (4) 1986

86. Find the odd out of the following
(1) Fishing (2} Whaling (3) Pearling (4) Sealing
frfafias & @ sma T Hifsg
(1) Heed 3TRde (2) Bl 3@ (3) Hidt TmEw (4) He e

87. Which city is known as the ‘Oil City of Assam'?
(1) Noonmati (2] Tinsukia (3} Dibrugarh (4) Digboi

FH-UT TR ‘3799 F & AR F AW G F@ A R ?

(1) T (2) fomgfer (3) fsgme (4) fEmars

26] 29 (P.T.0.}
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94,

95.

96.

97.

(26)

(1) = (2) @rerd

Merino Wool is

{1) short staple

(3) long staple

(3) wosit

2)
(4)

(@) T%e

medium staple

mixed staple

Bt 59 2

(1) B2 AEn () W W AN (3) o W e (4) Ffe o
Banana is not grown in which country?

(1) Brazil (2} Ecuador (3) India (4) Sweden
Fon fow 2w & A T S 27

(1) smfiet (2) TSR (3) R (4) wiem

The venom of Cobra affects the

(1) digestive system (2) circulatory system

(3) nervous system (4) respiratory system

g @iy # S g Hl @

(1) 9=F 79 (2) T BUR H  (3) qGE T H (4] vEER 9%
The control center of a cell is the

(1) cyvtoplasm (2] nucleus

(3) cell membrane (4) chromosome



98.

99,

100.

101.

(26}

FITH #1 Fram ¥ 2
(1) HITH Zo7 (2) FF (3) ST z=a Fom

Which one-of the following is not a viral disease?

(1) Rabies (2) Chickenpox  (3) Polio
frafeifea & & - snfa fqmmopes = 27

(1) tefrst (2) B (3) fer

In sickle cell anaemia, there is deformity in

(1) WBCs (2) Platelets (3) RBCs
78w (frea @9) e fgfy 2

(1) gegodfiorto i (2) wieeizd
(3) ¥modtorito i | (4) T £
EEG is used for the diagnosis of

(1) brain (2) liver (3) kidney
$odosfto F1 WA foFm Aol & T for wman 7

(1) AfET=h (2) FFd (3) 9=

Genus Aedes is a vector of

(1) Filaria (2) Dengue (3) Malaria
7 TS W @

(1) weafEm = (2) 1w (3) weAftEr

33
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(4) TRF

(4) Leprosy

(4) %8

(4) Lymph

(4) heart

(4) &<

(4} Elephantiasis

(4) erefiata 1

(P.T.O.}
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102. What is the term which describes the fusion of a sperm and an egg?

(1) Duplication (2} Reproduction (3) Ovulation (4) Fertilization
g Ao feew % giea F1 fRg am @ afi 27
(1) ferm (2) w3t (3) feraremd () P

103. Which organ belongs to the digestive system?

(1) Thymus (2) Heart (3) Stomach (4) Trachea
F-TT 7 gred 75 F1 e 22
(1) sTeguf (2) &F (3) =TI (4) vETEE

104, The central nervous system includes

(1) nerves (2} brain and spinal cord
(3) brain (4) spinal cord

= dfimm 73 § offfm 2

(1) =g (2) wiers qam HE

(3) wfET (4) BE]

105. Lysozyme is antimicrobial secretion of

(1) tears (2) saliva

(3) polysaccharides (4} All of these

IR I ITE U EICTRE C i

(1) 1g (2) @R (3) uicfidwEgE  (4) ITE A+

(26) 34
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The hardest constituent of tooth is

(1) bone (2) dentine (3) enamel (4) pulp

Zd F1 Hhaiad HgTd B
(1) &= (2) T (3) Erraes (@) T

Bile is formed in

(1} gallbladder (2} spleen (3) blood (4) lLiver
fisr w1 fmfor drar 2
(1) Toamm (2) witgr | (3} ®fem (4) aFa #

Glycogen is stored in

(1) blood (2} heart (3) muscle (4) liver
TR 1 WUSRU FAT B
(1) =fem (2) &23 # (3) wiedfit & (4) @wa §

In the Deccan region of India, which one of the following river(s) is(are} west
flowing rivers?

(1) Narmada (2) Tapti
(3) Both (1) and (2) (4) Neither (1) nor (2)
o ¥ zEa a9 0, e d & S-eh 7@ /Rt ot B sl swdh 322
(1) Tz (2) amh
(3) (1) @ (2) (4) T A (1) M A (2)
35 (P.T.O.)
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110.

111.

112,

113.

(26)

The Union Budget is presented in Lok Sabha by

{1) Prime Mimster {2} Finance Minister

(3) Defence Minister (4) Home Minister

drFa d HEE g9 WEd R S 2

() surEst g (2) fm owh gm (9) @ wf g (4) TR EA g

Which President of India had the longest tenure?

(1} Dr. S. Radhakrishnan (2) Dr. Rajendra Prasad

(3) Dr. Zakir Hussain (4) Dr. A P.J. Abdul Kalam
ara # feg wgafa 1 FEwE waies @ d7

(1) Sle THo JMHTE, (2) Blo TS TR

(3) o SfF EEA (4) 2o To dio Fo g Fellm

The first Indian to receive Nobel Prize was
(1) S. Chandrashekhar (2) Hargovind Khurana

(3) C. Venkataraman (4) Rabindranath Tagore
Trae qUER 9H A WgH WRdE 9

(1) wdo W@t (2) wUiifam gun  (3) Ho dHTW  (4) gy B
Exclusive Educational Channel of IGNQU is known as

{1) Gyan Darshan (2} Gyan Vani

(3) Doordarshan (4) Prasar Bharti

36
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IGNOU # T4 e S9a F:ow w2
(1) 79 =z9f (2) ¥ =off (3) gEwH (4) TER 9EE

% =i3%2 486 |

114. The lowest form of rational polynomial ~— = is
X" —x°—-6x

x*-13x2 + 36

e F FEAIH &Y
R x® - x% -6x ?
R et s () (X22)(x+3)
xX(x+2) b s
(3) (x+2)(x-3) “) (x+2)(x+3)
X x(x-2)

xt-16
3 7 o 1B
xX{(x=-2)"+2x° -8

115. The multiple inverse of the rational expression of

. x*-16
Hisfra = Smfgﬂmuﬁrﬁqé

RS2y ¢ 2% =

x+2
X

1
X+ 2

@
x =

)
: & u[ @

X+ 2

(1)

116. In a school, there were five teachers. A and B were teaching Hindi and English.
C and B were teaching English and Geography. D and A were teaching
Mathematics and Hindi. E and B were teaching History and French. Who among
the teachers was teaching maximum number of subjects?

UF T § Fo 99 s ¥ fd A 9w B 5 qwr oA wem 9 ¢ 9w B
S o e e &) D AN A @ aw T weR 9 E aw B TEw mw
H9 Ue ¥ 3 JAMH H B BN AWNTF veE Wi fava g o7

(1) A (2) B (3) C (4) D

(26 37 (P.T.0.)
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117.

118.

(26)

All the roads of a city are either perpendicular or parallel to one another. The

roads are all straight. Roads A, B,C, D and E are paralilel to one another. Roads

G H,I J K,Land M are parallel to one another. Road Ais 1 km East ufnmd B,
Road B is 3 km West of road C. Road D is 1 km West of road E. Road Gis £ km
South of road H . Road I is 1 km North of road J. Road K is 5 km North of road L.

Road K is 1 km South of road M. If road E is between B qnda C, then the distance
hetween A and D will be

(1) § km (2) 1 km
(3) 15 km (4) between 1'5 to 2 km

Ewﬁmﬁqﬁﬁ@i%ﬁmﬁmﬁ?%mw%lmﬂqg%pﬁm%.
9%% A B,C,D TN E 98 # UH-g@ & FARRH | WSH G H, I J K.L T
MWﬁm%imAmB%rﬁalﬁﬁnﬁo %Jaﬁﬁmn
¥ afvem L fRotflo g I WEH D, mﬁ%qﬁ%ﬂl%uﬁnagélm
Hmﬁml%oﬁoq%lmfﬂ:ﬁJ?ﬁ?ﬁTl%orﬁnq%Ju\smK HTF
L% 3m L Frofle 70 1 T K, WeF M F 2 1 oo g &1 e wEw
Hﬁﬂﬁmcasaﬁ%l% T A @ D F = Hgh 7

(1) L frodfio (2) 1 Fotio

(3) 1-5 Trotfio (4) 15 8 2 TFotflo % dig

‘A + B’ means ‘A is the daughter of B’. ‘Ax B’ means ‘A is the son of B’. ‘A - B’
means ‘A is the wife of B f ZxT -SxU+ P, what isV to Z ?

(1) Mother (2) Grandmother

(3) Father (4) None of them

A+B T a4 2 5 AB R TR Y CAxB F 9] 25 A B wEE )
A-BwAad 2 ABRENREIIR ZxT-SxU+P, @ Vv, Z 1 & 27

{1y W (2) 2mEr (3) fora (4) 7% F FE T

38
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Five words spine, spinal. spinner, spinet and spindle are given. Which of them
will come in the middle if all are arranged alphabetically as in a dictionary?

s & g %G spine, E:-pinai, spinner, spinet AY[ spindle f@ [y 2l afe &
ﬂﬁaﬁaﬁiﬁ%mﬂaﬂﬁﬁﬁmw%,ﬁﬁ?—mmmaﬁam?

(1) Spine (2) Spinal (3) Spinner (4] Spinev

In a group of cows and hens, the number of legs are 14 more than twice the
number of heads. the number of cows will be

mﬁam@ﬁ%ﬁ%ﬁ%ﬁﬁmaﬁ%ﬁﬁ%aﬁ%ﬁmmél
e g
(1) 5 (2) 7 (3) 10 (4) 12

39 (P.T.0.)
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Section—II
ECLES ||
LANGUAGE : ENGLISH

(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question. Give the correct choice
as An answer.

Directions : (Question No. 121-124) Select the word nearest in meaning to the given
bold word.

121. Going through old photo albums is always a nostalgic exercise for me.

(1) Annoying (2) Sentimental ({3} Pleasing (4) Happy

122. Death is inevitable, but that is all the more reason to live life to the fullest.

(1) Unavoidable (2) Sad (3) Mournful (4) Ritual

123. His reputation for sarcasm made him one of the most feared film critics i the
business.

(1) Taunting (2) Angry (3} Dreadiul (4] Loud

124. Ajit is taking care of the logistics for the picnic this weekend,
(1) Materials (2} Eatables (3) Transport 4] Management

Directions : (Question No. 125-128) Select the word opposite in meaning to the given
bold word. '

125. The murderer managed to avoid imprisonment by being diagnosed with
insanity; he was sent to an asylum inslead.

{1} Rash (2) Insensible (3] Sane (4) Clean

{26] 40
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H,:n arrnved cllrunk to the reception and behaved in a thoroughly despicable
manner, which compelied us to have him removed from the premises.

1 - ,
(1) Impervious (2] Vulgar (3) Devilish (4) Desirable

The reconciliation of my sales figures with the company’s boiled down to a
matter of calculation errors on my part.

(1) Estrangement (2) Counsel (3) Increase (4} Problems

He has been criticized for the use of obsolete expressions in his writings,
rendering his works incomprehensible to the present generation.

([} Twisted (2) Pungent (3] Current (4] Oblique

Directions :  (Question No. 129-135) Select the word to fill in the blanks.

129,

130.

131.

132.

133.

26)

Sahil was not by criticism.

(1) satisfied (2) careless (3) lazy (4) deterred

the blood it sheds.

There 18 no glory in war

(1} hoping (2) considering (3) anticipating  (4) disliking

He was of playing tight and loose with the sentiments of his dearest
friends.

{1) accused (2) thought (3) thick (4) determined

The new Principal stress on routine administration rather than on
academic matters and examination reforms.

(1) developed (2) seasoned (3) laid (4] allowed
The words of the mother comforted the disappointed child.
(1) regular (2} sharp (3) angry (4) soothing

41 (P.T.0O.}
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134.

135.

Civilization, in the real sense of the term, consists not in the - - but in the
deliberate and voluntary reduction of wants.

(1) multiplication (2) necessity (3} pleasure (4) destre

To yourself from cold wear warm clothes.

(1) approve (2) annihilate (3) choose (4) protect

Directions :  (Question No. 136-140) The given sentence is divided into three parts

136.

137.

138.

139.

(26)

numbered (1), (2) and (3). One of these contains an error. Select the
erroneous part. If you think there is no error in any part of the sentence
select option number (4) which indicates ‘No error’.

The presence of strong feeling, the cause of which is not fully understood,
(1) (2)
always has the effect of making we human beings uncasy. No error
(3) (4]

(1) (2) (3) 4

The new law is too stringent; it will be neither respected or obeyed. No error

The tribesmen made offerings to placate  the Gods, whom, they believed,
(1) (2)
were angry with them.  No error

(3) (4)

The General has reported that, as a result of financial constraints, less
(1) (2)
soldiers would be sent on peace - keeping missions this year. No error

(3) (4)

42
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140. _"_:"Ec_‘:'rdmg_____t_ﬁ_}ﬂl"% it is not logic and reasoning that determine our actions,
(1) - _hl’g} T

E_)_ut emotions. No error

(3) @
141. Which word of the following is not a noun?
(1} Document (2] Politics (3} Abolish (4) Movies

142.  From the given alternatives, select the most appropriate one to fill in the blank
In [ollowing sentencesg -

We want water. We are

(1] hungry (2) hot (3) sweating (4) thirsty

143. Fill in the blank with the best conjunction :

She should wear her new blue dress or the white lace one to the

party.

(1) either (2) among (3) as (4) neither

Directions : (Question No. 144-145) Choose the correct meaning of the given idioms.

144, Hands Down
(1) Inability (2} Easily (3) Same (4) Tied

145. All Greek to Me

(1) Ancient (2) Distant (3) Common (4) Unintelligible

146. Identify the figure of speech in the following line :
The beginning of the end

(1) Paradox (2) Simile (3) Metaphor (4) Epigram
(26) 43 (P.T.Q.)
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147. Choose from the four options, the word which can be substituted by the given

group of words :

A person who believes n fate
i1) Priest (2) Clergyman  (3) Fatalist (4] Monk

148. Choose from the four alternatives, the one which best expresses the given
stalement into the indirect speech :

“ | will pass the exam”, she hoped.
(1) She hoped to pass the exam.
(2) She hoped she would pass the exam.
(3) She hoped she would have passed the exam.
(4) She had hopes to pass the exam.

149. Choose from the four alternatives, the one which best expresses the piven
statement into the passive voice :

He opens the door.
(1) The door is opened by him. (2) The duor vpens by him.

(3) He had the door opened. (4) He opened the door.

150. Identify the doer of action in the following sentence .

Macbeth was written by Shakespeare.

(1) Macbeth (2) Shakespearc

{3) was (4) by

(26) 44
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88. What is the main reason behind location of IT Industry in South India?

(1) Local capital (2] Nearness to market

(3) Suitable climate (4) Availability of trained manpower
ﬁwwﬁmnﬁnaﬁﬂ%m@a%%mwm%?

(1) #rtE g (2) am $i geigar

(3) 39FT oAy (4) 9fiEm omE sm Y Swemu

89. North-East India does not have cotton textile industry because
(1) lack of demand (2) unsuitable climate

(3} Unavailability of raw material (4) lack of labour supply

IW-Td WA 0 gt aw s w2, e

(1) =T it Fdt 2 (2) ¥WF Sear 2
(3) %= e f AT 2 (4) At =1 e 2

90. Match the following correctly ;

(A} Manganese (i} Khetri

(B) Copper (ii) Mayurbhanj
(C) Bauxite (iif) Maikal Hill
(D} Iron ore (iv) Balaghat

(1) (A)-(i, (B)-(ii), (C)-(iii), (D)(iv)  (2) (A-v), (B)-(ii), (C)-(i), (D) —{iii)

O -9, B0, (CHGE), D)) @) (AW, BGv), (-, (D
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